RCH,CH,CHO
RCH=CH2 + CO + H2
: RCH—CH,

CHO

CH30OH + CO— CH3;COOH

CH3C=CH + CO + CHzOH — CH>=C—COOCHj
CHs

CH,=CH, + CO + H,0O0— CH3CH,COOH

CHs—CHyt+ CO + H,O—= HOCH,CH,COOH

N-/
o
CHzCHz+CO + ROH—= HOCH,CH,COOR

CH,O + CO + H,0— HOCH,COOH
CHgCHO + CO + H,O—= CH3CH—COOH

OH
ArCHO+ 2CO + H,O— ArCH,COOH + CO,
ArCHO + 2CO + ROH— ArCH,COOR + CO,

_ COOH
ArCHO + 2CO + H,O—= ArCH
' 2 NCOOH

Cbz_/CHz"' CO+ 2H2—> HOCH2CH2CH20H
o

CH,=CH—CH=CH, + CO + 2H,O — HOOC(CH,),COOH

CH,=CHOOCHj3; + CO + CH3;0H— CH3(|3HOOCH3

COOCH;
o) o)

Cl _COOCHg3;
+CO + CHgOH_H—CT

CuHTe3ey apKbLIbl KAPOOHMJIIEY PeaKIUSACHIHBIH epeKIle
MYMKIiH 00JIATBIH MBICAJIIAPBI



